
 

CALCULATION EXAMPLES WPD FULL BACHELOR PROGRAMME  

(credits taken x 18) / 120 
ALWAYS MAXIMUM 18 WPD 

 

 
PROGRAMME 

 
EXEMPTIONS? 

 
MAX ALLOWED WPD  

 

 
FAILED COURSES 

 
YOUR WPD 

 
TOLERATED? 

 
BA 3  

 
Only 3rd year 

courses 

 
--- 

 
(120x18) / 120 = 18 

 
Because 120 credits taken 

 

 
An 8/20 for a 4 credit course 
A 9/20 for a 6 credit course 

 

 
(2x4) + (1x6) = 14 

 
2 points deficit for 4 

credits and 1 for 6 credits 

 

 
Tolerated 

Because 14 is lower than 18 

 
BA2 & BA3 

 
Courses from 
year 2 and 3  

 
Exemption for 24 credits 
Taken: 96 of 120 credits 

 
(60 credits per year = 120 credits) 

 

 
 

(96x18) / 120 = 14,4 
 

Because 96 credits taken 

 

 
An 8/20 for a 6 credit course 
A 9/20 for a 6 credit course 

 
(2x6) + (1x6) = 18 

 
2 points deficit for 6 

credits and 1 for 6 credits 

 
NOT tolerated 

Because 18 is higher than 14,4 

 
BA2 & BA3 

 
Courses from 
year 2 and 3  

 
Exemption for 24 credits 
Taken: 96 of 120 credits 

 
(60 credits per year = 120 credits) 

 

 
(96x18) / 120 = 14,4 

 
Because 96 credits taken 

 

 
An 8/20 for a 6 credit course 

 
(2x6) = 12 

 
2 points deficit for 6 credits 

 
Tolerated 

Because 12 is lower than 14,4 

 

Deliberations take place once you finish your full Bachelor programme. Your year 2 and 3 results are combined for 120 credits. 


